FE51ELEABE I —ILF7—Fz)—RFIEXE HTERE

1. * & é@ﬁ?—%zu—‘iﬂﬁ
3. H B 20254 9H21H(H)
4 = 15 BHBRAR—YI5T
REAFREATAARES M AET167
5. &M - YHh—TEF(EF-&F)
EU AN UREF(BEF & F)
& 5l RPRYBFABF-KF)
6. EERGIEA| X7 —F ) —EBRR A (2024~2025%F) 2 LD
kU T4—ILRESHOUR T—012881% 281175
ks Wabr
Jh—T & BF
| - 7 N il Fi& &i
| BFRE | P DBRFRE I EETex (55 | e om (5 [ BE o 55
1 e 5N RARRTF HAFEMRA S 173 10| 13| 166 71 12| 3391 17| 25
2 +H ¥ EZRE (#R) S ERT 163 4 12| 168 5/ 18] 331 9] 30
3 S IEFE RERTF | THhSATAO%A 4| 158 5[ 11| 156 7 9| 314] 12| 20
4 20 EE KRR AF kRXesHo—yo 158 1 13| 156 8 9] 314 9f 22
5 H*HEEA AT BRAESHATT—o 152 8 71 152 6 71 304| 14| 14
6 M BT RARKT AIFEIRRESH 145 3 gl 141 1| 10| 286 4l 18
7 = ¥ | BEFEE A EE K 122 3 4] 128 4 4| 250 7 8
8 W B KT |/ srv=votsr—sarnzotrozdn 117 2 1 133 3 6 250 5 7
9 B $E EEER | ELTI/FSUR 111 0 6 99 0 3[ 210 0 9
RE| —FE R HEF | RXEES e
YHh—T &Y &F
il F 7 % “F A F& &%
Rb1| RFEE | PR BBEEPRE [ BETom (o | BA (o (oA | BA [ 6A oA
1 EH KR | BAfEE SR RE 132 2 5] 140 4 3[ 272 6 8
AU RER BF
T - - N i Fi& &E
) EFRE | AR DBR-FRE TEETes (58 | B 65 (58 | BE [ 65 [5E
1 R X ZRE |EREBE7—Fx)—EB| 194 19| 13| 193] 20 9| 387 39| 22
2 A g Z=pE |=RE7—Fz)—EB| 172 13 6] 176 9| 14| 348 22| 20
3 i HERE /N FYzwHraRsrGR)| 167 9| 13| 178 14 71 345| 23] 20
4 AT # EZRE (B FEEEEEMN 159 6| 10| 164 6| 14| 323 12| 24
5 0O B\X KIRRF |#@orv—yvr7—Fzu—ms| 161 4l 13| 159 3| 16| 320 71 29
6 AKX FE EER |EER7—Fx)—EH| 150 5 8| 150 4 6| 300 9] 14
ANV RER &F
I = e sepa il Fi% 55
| EFRE | FA DBRFRE  EETer (55 | e[ om (5 [ BE o oA
1 FEBE WERT | mERF 7 —F ) —ER| 166 9| 10| 160 71 12| 326] 16| 22
2 BK BE EER |EER7—F)—EBH| 161 6| 12| 142 5 3[ 303 11 15
AN7RIEP BF
‘l_ ¢ = =4 2 LA q:-ﬁ.ﬁ quﬁ ﬁ%
) EFRE | AR DBR-FRE TEE e (58 | B [om (58 | BE 65 [5E
1 57 2 RABRT INFY =9 (¥E) 152 5 8| 158 5] 14| 310 10| 22
2 Bl R— AT ¥BRAEHTUHAD 137 5 6| 134 2 6| 271 71 12
3 WA & EER (BR)ARPIFBR T % 141 5 71 118 4 4 259 9| 11
4 WA 5= EEE |[EEE7—F)—EB| 121 2 5( 106 2 al 227 4 9
5 HO 84 EER |EER7—Fx)—ER 68 1 5 83 2 2| 151 3 7
NF7RIEF ZF
7 _ ot T e | A F-Ai Fi& 55
) EFRE | AR T AT AR AT A AR AT AT
1 = F W | mEF7—F)—EB| 102 1 5] 125 1 5] 227 2 10




	確定成績

